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[ENGLISH VERSION]
The figures in the margin indicate full marks
Single Answer-type questions (1 to 25)

Mark in the answer-sheet to the right answer of all the following questions: 1x25=25

The instrument used to measure SPM in air is called

(a) High volume sampler (b) Hygrometer (c) Barometer

The example of lotic water is

(a) Lake water (b) River flowing water (¢) Seawater

Activated sludge process is linked to
(a) Air treatment process.
(b) Waste water treatment process.

(c) Solid waste management.

The most harmful UV-radiation is
(a) UV-A (b) UV-B (c) UV-C

World Environment Day is celebrated on
(a) 22nd April (b) 5th July (c) 5th June

If one species is found in a specific geographical location, it is called

(a) Endemic (b) Epidemic (¢) Exotic

Hazardous waste (Management & Handling) rules was notified in the year
(a) 1989 (b) 1986 (c) 1981

With rise in every kilometre in the troposphere, the temperature decreases by
(a) 65°C (b) 6:6°C (c) 64°C

One example of high cloud is
(a) Stratus cloud (b) Cirrus cloud (¢) Altocumulus cloud

Which one of the following is linked to ‘Silicosis’?
(a) Heart (b) Lungs (¢) Liver



[J(m)-ENVS-B.Com.(G)]

(6)

11.

12.

13.

14.

15,

16.

17.

18.

19.

20.

21.

22,

Ecotone is
(a) Ecosystem
(b) Biome

(c) Intermediate place between two ecosystems.

Western Ghats is famous as

(a) Ramsar site (b) Biodiversity hotspot

Locust is a/an

(a) Insect (b) Bird
Daphnia is a
(a) Periphyton (b) Nekton

Marsh gas is released from

(a) Wetland (b) Grassland

(c) Lion conservation forest

(c) Fish

(c) Plankton

(c) Tropical rainforest

‘Kerala Shastra Sahitya Parishad(KSSP)’ is linked with one of the following :

(a) Silent valley movement

(b) Narmada Bachao Andolan(c) Chipko movement

The Water (Prevention & Control of Pollution) Cess Act was enacted in

(a) 1974 (b) 1977

The example of in-situ conservation is
(a) Seed bank (b) Botanical Garden

Total number of biodiversity hotspots in the world is
(a) 25 (b) 35

The average temperature of the Earth is
(a) 10°C (b) 15°C

Which one of the following is waterborne disease?

(a) Malaria (b) Filaria

Bio diesel is prepared from

(a) Sugarcane (b) Jatropha
Artesian well is related to

(a) Rain water (b) Ground water

(c) 1981

(¢) National Park

(c) 17

(¢) 20°C

(c) Cholera

(¢) Wheat

(c) Seawater
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24. ‘Blue baby syndrome’ is caused by
(a) Phosphate (b) Arsenic (c) Nitrate

25. Genetic diversity is known as

(a) a—diversity (b) Pp-—diversity (c) y-diversity

Single/Multiple Answer-type questions (Q.Nos.26-30)

Read the following passages carefully and darken the circle/
circles corresponding to the correct statement / statements of the Passage: 10x5=50

?6. The term cyclone was given to a rotating storm in the tropics by Piddleton. The name cyclone has been
derived from a Greek word cyclo, which means the coil of a snake. These disturbances normally originate over
warm tropical seas around a centre of low. This centre of low is usually formed in the months of May to September
north of the equator ranging between 5°-10° N. Here the trade winds from both hemisphere converge at the
equatorial low in summer months. This zone is called the Inter Tropical Convergence Zone (ITCZ). The position
of ITCZ shifts and is related to the declination of the sun.

Statement 1 : The term cyclone was given by Piddleton.

Statement 2 : The centre of low pressure zone for formulation of cyclone is usually formed between
15°-20°N of equator.

Statement 3 : The ‘cyclo’ means coil of a snake.

27. In the autumn of 1952, the city of London remained covered with a thick envelope of fog continuously

for five days. Many persons belonging to all the age-groups fell ill and around 4000 persons lost their lives due

to that fatal fog. Later, it was revealed that the fog got admixed with poisonous gases containing mainly sulphur
dioxide emitted from industries and motor vehicles. An English physician named the mixture of smoke and fog

as smog (smog = smoke + fog).

Similar event occurred in 1930 in the Mass
nnsylvania State of the US.A., although the
disaster. The Los Angeles city of the U.S.A.

This is not the single or earliest example of smog disaster.
river valley of Belgium and in 1948 in the city of Donora in the Pe
damaging effects were much less intense than that in the London smog
and some cities of Japan are quite often covered with a black cloud of smog.

Statement 1 : In the year 1948, smog formed in the city of Donora in United States of America.
Statement 2 : In the year 1952, smog formed in the Mass river valley of Belgium.

Statement 3 : Smog is a mixture of smoke and fog.
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28. Soils that form the veneer of the land surface is very important for biotic generation. Soils can hold water
and help in the growth of plants, many microorganisms etc. Most plants get their nutrients from the soils for their
sustenance. So soils are considered very important environmentally. Soils are formed due to weathering of rocks
from the regolith and due to the interaction of climate, vegetation, topography etc. on it in the later stages. In
soil we find three distinct horizons namely, A, B and C. The horizon A is the layer of leaching, B is the layer
of deposition and C is the parent rock. The amount of leaching and deposition in a typical climatic and vegetative
environment decide the characteristics of the soil including the fertility status.

Statement 1 : Three distinct horizons are found in Soil.

Statement 2 : The lowest layer pf Soil Horizon is “A’ layer.

Statement 3 : Parent rock is found in ‘C’ horizon.

29. Nitrous oxide is produced through various natural processes, such as forest-fire, reaction in soil of a special
type of bacteria, due to slow and spontaneous oxidation of crop residues or due to addition of nitrogenous fertilizers
to the soil. This is also produced due to large-scale combustion of fossil fuels, particularly mineral oils used as
a fuel in the large number of motor vehicles. The amount of this gas is increasing in the atmosphere at a rate
of about 0-3 per cent per year. If the concentration goes on increasing at this rate it is apprehended that the amount
of the gas in air would be 30-35 per cent higher than that present just before the industrial revolution. Its

contribution to the greenhouse effect is about 4-5 per cent. From the point of view of trapping heat a molecule
of nitrous oxide is 250 times more effective compared to a molecule of carbon dioxide.

Statement 1 : Nitrous oxide is produced due to forest-fire.

Statement 2 : The amount of nitrous oxide in atmosphere is increasing at the rate of 0-5 per cent each year.

Statement 3 : The contribution of N,O to greenhouse effect is about 4-5 per cent.

30. Land constitutes less than one-third of the earth’s surface (nearly 29%). But land’s environment is crucial
for human beings, as they live on land. Their sustenance depends on quality of the land. Most of the human
occupations — say agriculture, mining, industry etc. are land specific. Even in the primitive society man depended
solely on land resources in food gathering and hunting. With the progress of civilization and innovations of
technologies man has affected the land — many forests have been cleared, many species have become extinct
and much of the resources greatly depleted. Degradation of lands has become a crucial issue today in regard to
sustenances of life on earth’s surface.

Statement 1 : Land constitutes about 29% of earth’s surface.

Statement 2 : Agriculture, mining and industrial works are land specific.

Statement 3 : Degradation of forests are not related to need of human being.
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